TEST 3
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INSTRUCTIONS
1- SHOW ALL YOUR WORK FOR FULL MARKS.
2- The test is marked out of 50 points.

Question 1. (4 marks)
Solve for x.
cosx = —0.23
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Question 2. (4 marks)
Solv_e for x.
tanx = —1 and sinx < O
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Question 3. (4 marks)
Solve for x.
sin?x — sinx = 0
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Question 4. (6 marks)
Solve for x.

COSSX—T%cosx:O_

cosy (cos®y —8)=0
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Y=yl / 38.6°
221.4° 318.6°




Question 5. (6 marks)
Draw the two "special triangles". Then give the EXACT VALUES of the follow-

ing. ]
csc30° = Q—- sin60° = O?/‘z.
sinds5° = V/ug cos45° = )

cot30° = U= tan60° = J32




Question 5. (6 marks)

The angle of elevation from a boat to the top of a 115m cliff is 60°. A second boat
is further away from the cliff and has an angle of elevation to the top of the cliff of
50°. What is the distance between the two boats?
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Question 6. (6 marks)
Perform the given operations.
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Question 7. (4 marks)

Express —3 — 4 in polar and exponential form.
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Question 8. (4 marks)
Express 4¢7J in rectangular form.
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Question 9. (6 marks)
Express 1 — 2 in exponential form, then express /1 — 2 in rectangular form.
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